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2 W B #E7E Boal R
By 3% A FI054£02 4 17H eI Dt e/ 83 kv (Biir)
fh 4 JE Hh 0 = I T E=E e T fE g2y ]
X R & JE 10. 00| AHxf 50 500 972 756 324
@ B | 10.00|Fxr| 70| 700 1,080  926] 864
NS 5% 10. 00 | #856f 200 2,000 1,728| 1,280 734
HOR w5 5. 00 [ FH %} 2 10 3,024
H X 5 15. 00| AHxf 250 3,750 1,620 1,537 1,361
T D o JE 12. 00 [ ¥A % 172 2, 064 975 934 432
E O NAE ™5 4. 00| AR} 41 164 1,998| 1,987 1,944
H % o e 3. 00 | FHx} 293 879| 1,404| 1,045 648
B A [ 1. 00| FHxf 195 195 1,080 831 432
= 1 | 5.00| f%E| o] 50| 4,320 3,204 2,160
A w5 2. 00| FHxf 77 154 1,296 1,149 972
[ 1N 5 5. 00| FA%f 563 2,815 1,998 1,718 1,296
I ==2—3 | 10. 00| FH%f 20 200 5, 292
~7 b= b M 3. 00 [ FHx%} 18 541 1,728 1,692 1,188
FE e JEE I 10. 00| AHxf 510 5,100 2,916 2,156 1,080
A= 4 AL E 10. 00| AHxf 510 5,100 1,728 1,130 756
B OF g, 10. 00| AHxf 88 880| 2,484| 2,030 1,620
£ A AbifEE 20. 00| FA%f 255 5, 100 2,376
wo | 10.00| fxr| 28] 2,380 2,808] 1,646 54
LA R L 10. 00 | #H%f 430 4,300 3,024| 2,520 1,512
==l H A & ] 4. 00| FHxf 472 1,888 1,944| 1,667 756
Tuyal— w5 6. 00 | FH%f 303 1,818 3,132 2,462| 1,296
ENIE 6.00| FE%F| 3| i8] | 0,700
AEHEE w5 0. 10| #H%f | 4,900 490 167 130 65
ZDEH E % 0. 20| FA%F 1,170 234 85 67 64
LU &k B 0. 20 | FHxf 300 60 86
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P g SR
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Rz 054202 H 17 H eI Dt e/ 14 b~ (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

38 Foak L 10. 00 | #H%F 431 4,310 4,860 4,018] 3,240
VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160
Avara 74 V¥ | 13.00] fH%E 19 247 3,024 2,001 594
bHFEED @ [ 0. 27| FAx%F 1, 555 420 540 495 108
S X EF I 0. 25| A%} 3,025 760 518 427 216
BHDY S 5 0. 25| FA%F 1, 324 332 410 378 270




